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Lecture 05: Equity Premium Puzzle
I. Investing for the long run
a. People generally prefer to invest in very safe areas, notably government bonds. Bonds pay about 1%, but are safer.
b. Another option is to invest in stocks (equity) and hold them for several dozen years. Stocks on average yield about 8%, but are more volatile.
c. The equity premium—or the additional return on equity—is very high (7%, the difference between 8% and 1%). Strange, because by the efficient market hypothesis, such gains should not persist for long. What’s going on?
II. Equity Premium Puzzle
a. This persistent difference is known as the equity premium puzzle. There must be some reason for the very large gap in returns, otherwise people would flock to equity and bid away the gains. Here’s a few possibilities:
i. Volatility risk—stocks are riskier than bonds. Sure equity can do really well, but it can also turn really bad. The possibility of the disaster scenario must be compensated, hence the premium.
ii. Liability management—because stocks are volatile, and people have plans for investment, bonds offer an advantage over equity. Bonds are simply more capable of ensuring people that they will be able to meet future financial obligations (critical because not meeting them can be very costly).
iii. Loss aversion—people love it when assets gain value, but seeing them lose value is painful, and of course stocks lose them all the time. Bonds, however, are always increasing so the price of witnessing such gains is a lower return.
iv. Habit formation—people get used to their current consumption level and thus will avoid short-run fluctuations. They will, however be less averse to the possibility of long-run reductions. Thus equity is less desirable and demands a premium.
v. Catching up with the Joneses—conversely, people wish to make sure they are at least as wealthy as their friends. Long-term returns have more value than short-term, because in the long-term, others will be consuming much more. Thus bonds are more desirable and the alternative (equity) develops a premium.
vi. Taxes—the premium could be a result of the decrease in taxes on dividends in the latter half of the twentieth century. When taxes fell, stock prices rose (increasing the returns for those that held stocks). Over time, the equity premium will be reduced to nothing (there is mixed evidence to support this).
